


Mixed Radical

2\/§ A number 1s 1n

front of the radical
sign. “Mixture”



Intire Radical

Vo4 Everything 1s

entirely under the
radical sign.



Calculate /75

What d | notice?

Your answer is irrational,
therefore lets simplify!!!



Simplify /75

Use Prime Factorization !!




PTG erzaton

Simplify /75

N
V75 /3x(5x 5

5.3




Reducing or 51 nlifying Radicals

@@@ﬁﬂa . . B
e Simplify /125

To simplify /125 , we must
determine the greatest

perfect square that divides into
125 evenly!!




USERIRUIENITE

- 4 Hint: Start at the bottom!!
s
- 16
. 25 25x5=125
*'_: 36
= V125
-
T

-— 18010 m
121 5 \/g



Simplify /63

v3x3x7

3./7



Simplify 31080

J2x2x2x3x3x3x5

@Ex2x DX x3x3IX5
2x3 35

635

10



Simplify 3120

J2x2x2x3x5

@x3x5

23¥3x5

2315
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Ty 2 Younselmm

Simplify:

a) V147 b) V80  ¢)\98

d 81 e 80 f) 432

12



a) V147 b) V80  ¢) V98




d) ¥81 e) ¥80 1) ¥432
d) JBx3xx3 ¢ (Ex2x2x2x5

37/3 23/2x5
23710
N 2x2xTx2x3X3xD

2x332

63/2
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Write 3./12 as an entire radical

3./12

J12x3x3

/108

15



Write 2.3/6 as an entire radical

236
J6x2x2x2

348
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Write 4%/3 as an entire radical

4473 433
Y3x4x4x4x4 Y3 x 256
768 Y768

e ————————————— - -
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Ty 12 Vourseliimn

a) 6.2

b) 437

¢) 3¥11

18



1y R VoS!

a) 6.2 i b) 437 o) 391
V2X6Xx6 | E JTx4x4x4 i Y11 x3x3x3x3
J72 3/448 T

or vZx36 J6axT YT x 81

V72 3/448 4391

19
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